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So,

Now 3456 x 5=..17280,

MULTIPLE MULTIPLICATION

A panchayath decided to provide furniture for the
primary school. The price of a desK is 3456 rupees.
What would be the total cost for 85 desKs?
We want to calculate 3456 x 85

We can write it out like this:
3456 x 85 = 3456 x (5 + 80)
= (3456 x 5) + (3456 x 80)

3456 x
3456 x 80 = 26480 5

17280
3456 x 85 = 293760..

3456 x
80
276480

17280
276480
293760




ACTIVITY 1

Under the Noon Meal Scheme, 150 grams of rice is
allotted per day for each child. In a High School,
1240 children are in this scheme. How many Kilograms
of rice is needed per day?

ACTIVITY 2

It was decided to give 1221 booKs each to 587 selected
libraries in the state during the Reading WeeK.
How many books are to be bought in all?

Do all the activities and send to the teacher....

Al The Best




